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Markov	
  Networks	
  

•  Each	
  random	
  variable	
  is	
  a	
  
vertex.	
  

•  Undirected	
  edges.	
  
•  Factors	
  are	
  associated	
  
with	
  subsets	
  of	
  nodes	
  that	
  
form	
  cliques.	
  
– A	
  factor	
  maps	
  assignments	
  
of	
  its	
  nodes	
  to	
  nonnega@ve	
  
values.	
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Markov	
  Networks	
  

•  In	
  this	
  example,	
  
associate	
  a	
  factor	
  
with	
  each	
  edge.	
  
– Could	
  also	
  have	
  
factors	
  for	
  single	
  
nodes!	
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Markov	
  Networks	
  

•  Probability	
  distribu@on:	
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= 7,201,840 

P(0, 1, 1, 0) 
= 5,000,000 / Z 
= 0.69 



Markov	
  Networks	
  

•  Probability	
  distribu@on:	
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= 0.0000014 



Markov	
  Networks	
  
(General	
  Form)	
  

•  Let	
  Di	
  denote	
  the	
  set	
  of	
  variables	
  (subset	
  of	
  X)	
  
in	
  the	
  ith	
  clique.	
  

•  Probability	
  distribu@on	
  is	
  a	
  Gibbs	
  distribu@on:	
  

P (X) =
U(X)

Z

U(X) =
m⇥

i=1

�i(Di)

Z =
�

x�Val(X)

U(x)



Notes	
  

•  Z	
  might	
  be	
  hard	
  to	
  calculate.	
  
– “Normaliza@on	
  constant”	
  
– “Par@@on	
  func@on”	
  

•  Can	
  get	
  efficient	
  calcula@on	
  in	
  some	
  cases.	
  
– This	
  is	
  an	
  inference	
  problem;	
  it’s	
  equivalent	
  to	
  
marginalizing	
  over	
  everything.	
  

•  Ra#os	
  of	
  probabili@es	
  are	
  easy.	
  
P (x)
P (x�)

=
U(x)/Z
U(x�)/Z

=
U(x)
U(x�)



Independence	
  in	
  Markov	
  Networks	
  

•  Given	
  a	
  set	
  of	
  observed	
  nodes	
  Z,	
  a	
  path	
  X1-­‐X2-­‐
X3-­‐…-­‐Xk	
  is	
  ac1ve	
  if	
  no	
  nodes	
  on	
  the	
  path	
  are	
  
observed.	
  	
  



Independence	
  in	
  Markov	
  Networks	
  

•  Given	
  a	
  set	
  of	
  observed	
  nodes	
  Z,	
  a	
  path	
  X1-­‐X2-­‐
X3-­‐…-­‐Xk	
  is	
  ac1ve	
  if	
  no	
  nodes	
  on	
  the	
  path	
  are	
  
observed.	
  	
  

•  Two	
  sets	
  of	
  nodes	
  X	
  and	
  Y	
  in	
  H	
  are	
  separated	
  
given	
  Z	
  if	
  there	
  is	
  no	
  ac@ve	
  path	
  between	
  any	
  
Xi	
  ∈	
  X	
  and	
  any	
  Yi	
  ∈	
  Y.	
  
– Denoted:	
  	
  sepH(X,	
  Y	
  |	
  Z)	
  



Independence	
  in	
  Markov	
  Networks	
  

•  Given	
  a	
  set	
  of	
  observed	
  nodes	
  Z,	
  a	
  path	
  X1-­‐X2-­‐
X3-­‐…-­‐Xk	
  is	
  ac1ve	
  if	
  no	
  nodes	
  on	
  the	
  path	
  are	
  
observed.	
  	
  

•  Two	
  sets	
  of	
  nodes	
  X	
  and	
  Y	
  in	
  H	
  are	
  separated	
  
given	
  Z	
  if	
  there	
  is	
  no	
  ac@ve	
  path	
  between	
  any	
  
Xi	
  ∈	
  X	
  and	
  any	
  Yi	
  ∈	
  Y.	
  
– Denoted:	
  	
  sepH(X,	
  Y	
  |	
  Z)	
  

•  Global	
  Markov	
  assump@on:	
  	
  	
  
sepH (X,	
  Y	
  |	
  Z)	
  ⇒	
  X	
  ⊥	
  Y	
  |	
  Z	
  



Representa@on	
  Theorems	
  

•  Bayesian	
  networks	
  …	
  

–  Independencies	
  give	
  you	
  the	
  Bayesian	
  network.	
  
– Bayesian	
  network	
  reveals	
  independencies.	
  

P (X) =
n�

i=1

P (Xi | Parents(Xi))The	
  Bayesian	
  network	
  graph’s	
  
independencies	
  are	
  a	
  subset	
  of	
  
those	
  in	
  P.	
  



Representa@on	
  Theorems	
  

•  Bayesian	
  networks	
  …	
  

•  Markov	
  networks	
  …	
  

P (X) =
n�

i=1

P (Xi | Parents(Xi))The	
  Bayesian	
  network	
  graph’s	
  
independencies	
  are	
  a	
  subset	
  of	
  
those	
  in	
  P.	
  



Representa@on	
  Theorems	
  

•  Bayesian	
  networks	
  …	
  

•  Markov	
  networks	
  …	
  

P (X) =
n�

i=1

P (Xi | Parents(Xi))

The	
  Markov	
  network	
  
graph’s	
  independencies	
  
are	
  a	
  subset	
  of	
  those	
  in	
  P.	
  

P (X) =
1
Z

m�

i=1

�i(Di)

The	
  Bayesian	
  network	
  graph’s	
  
independencies	
  are	
  a	
  subset	
  of	
  
those	
  in	
  P.	
  

***	
  



Hammersley-­‐Clifford	
  Theorem	
  

•  Other	
  direc@on	
  succeeds	
  if	
  P(x)	
  >	
  0	
  for	
  all	
  x.	
  
•  Hammersley-­‐Clifford	
  Theorem	
  

The	
  Markov	
  network	
  
graph’s	
  independencies	
  
are	
  a	
  subset	
  of	
  those	
  in	
  P	
  
and	
  P	
  is	
  nonnega#ve.	
  

P (X) =
1
Z

m�

i=1

�i(Di)



Completeness	
  of	
  Separa@on	
  

•  For	
  almost	
  all	
  P	
  that	
  factorize,	
  I(H)	
  =	
  I(P).	
  
– “Almost	
  all”	
  is	
  the	
  same	
  hedge	
  as	
  in	
  the	
  Bayesian	
  
network	
  case.	
  	
  A	
  measure-­‐zero	
  set	
  of	
  
parameteriza@ons	
  might	
  make	
  stronger	
  
independence	
  assump@ons	
  than	
  P	
  does.	
  



Graphs	
  and	
  Independencies	
  

Bayesian	
  
Networks	
  

Markov	
  
Networks	
  

local	
  
independencies	
  

local	
  Markov	
  
assump@on	
   ?	
  

global	
  
independencies	
   d-­‐separa@on	
   separa@on	
  

•  With Bayesian networks, we had the local 
Markov assumptions


•  Is there anything similar in Markov networks?




Local	
  Independence	
  Assump@ons	
  in	
  
Markov	
  Networks	
  

•  Separa1on	
  defines	
  global	
  independencies.	
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T5	
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T7	
   T8	
   T9	
  



Local	
  Independence	
  Assump@ons	
  in	
  
Markov	
  Networks	
  

•  Pairwise	
  Markov	
  independence:	
  	
  pairs	
  of	
  non-­‐
adjacent	
  variables	
  are	
  independent	
  given	
  
everything	
  else.	
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T5	
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T7	
   T8	
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Local	
  Independence	
  Assump@ons	
  in	
  
Markov	
  Networks	
  

•  Markov	
  blanket:	
  	
  each	
  variable	
  is	
  
independent	
  of	
  the	
  rest	
  given	
  its	
  neighbors.	
  

T1	
  

T3	
   T4	
  

T5	
   T6	
  

T2	
  

T7	
   T8	
   T9	
  



Local	
  Independence	
  Assump@ons	
  in	
  
Markov	
  Networks	
  

•  Separa@on:	
  	
  	
  
sepH (W,	
  Y	
  |	
  Z)	
  ⇒	
  W	
  ⊥	
  Y	
  |	
  Z	
  

•  Pairwise	
  Markov:	
  	
  	
  
A	
  ⊥	
  B	
  |	
  X	
  \	
  {A,	
  B}	
  

•  Markov	
  blanket:	
  	
  	
  
A	
  ⊥	
  X	
  \	
  Neighbors(A)	
  |	
  Neighbors(A)	
  



Soundness	
  

•  For	
  a	
  posi@ve	
  distribu@on	
  P,	
  the	
  three	
  statements	
  
are	
  equivalent:	
  
–  P	
  entails	
  the	
  global	
  independencies	
  of	
  H	
  (strongest)	
  	
  
–  P	
  entails	
  the	
  Markov	
  blanket	
  independencies	
  of	
  H 
–  P	
  entails	
  the	
  pairwise	
  independencies	
  of	
  H	
  (weakest)	
  

•  For	
  nonposi@ve	
  distribu@ons,	
  we	
  can	
  find	
  cases	
  
that	
  sa@sfy	
  each	
  property,	
  but	
  not	
  the	
  stronger	
  
one!	
  
–  Examples	
  in	
  K&F	
  4.3.	
  



Bayesian	
  Networks	
  	
  
and	
  Markov	
  Networks	
  

Bayesian	
  Networks	
   Markov	
  Networks	
  

local	
  
independencies	
   local	
  Markov	
  assump@on	
   pairwise;	
  Markov	
  blanket	
  

global	
  
independencies	
   d-­‐separa@on	
   separa@on	
  

rela1ve	
  
advantages	
  

•  v-­‐structures	
  handled	
  elegantly	
  
•  CPDs	
  are	
  condi@onal	
  
probabili@es	
  
•  probability	
  of	
  full	
  instan@a@on	
  
is	
  easy	
  (no	
  par@@on	
  func@on)	
  

•  cycles	
  allowed	
  
•  perfect	
  maps	
  for	
  swinging	
  
couples	
  



Bayesian	
  
Network	
  

Markov	
  
Network	
  

moralize	
  

triangulate	
  



25


From	
  Bayesian	
  Networks	
  to	
  Markov	
  
Networks	
  

•  Each	
  CPT	
  can	
  be	
  thought	
  of	
  as	
  a	
  factor	
  
•  Requires	
  us	
  to	
  connect	
  all	
  parents	
  of	
  each	
  
node	
  together	
  

– Also	
  called	
  “moraliza@on”	
  



From	
  Markov	
  Networks	
  to	
  Bayesian	
  
Networks	
  

• Conversion	
  from	
  MN	
  to	
  BN	
  requires	
  
triangula@on.	
  	
  

– May	
  lose	
  some	
  independence	
  informa@on.	
  
– May	
  involve	
  a	
  lot	
  of	
  addi@onal	
  edges.	
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Summary	
  

•  BNs	
  and	
  MNs	
  offer	
  a	
  way	
  to	
  encode	
  a	
  set	
  of	
  
independence	
  assump@ons	
  

•  There	
  is	
  a	
  way	
  to	
  transform	
  from	
  one	
  to	
  
another,	
  but	
  it	
  can	
  be	
  at	
  the	
  cost	
  of	
  losing	
  
independence	
  assump@ons	
  

•  This	
  aKernoon:	
  	
  inference	
  



Lecture	
  2:	
  	
  Inference	
  



Inference:	
  	
  An	
  Ubiquitous	
  Obstacle	
  

•  Decoding	
  is	
  inference.	
  
•  Subrou@nes	
  for	
  learning	
  are	
  inference.	
  
•  Learning	
  is	
  inference.	
  

•  Exact	
  inference	
  is	
  #P-­‐complete.	
  
– Even	
  approxima@ons	
  within	
  a	
  given	
  absolute	
  or	
  
rela@ve	
  error	
  are	
  hard.	
  

	
  



Probabilis@c	
  Inference	
  Problems	
  
Given	
  values	
  for	
  some	
  random	
  variables	
  (X	
  ⊂ V)	
  …	
  
•  Most	
  Probable	
  Explana@on:	
  	
  what	
  are	
  the	
  most	
  probable	
  values	
  of	
  the	
  rest	
  

of	
  the	
  r.v.s	
  V	
  \	
  X?	
  
	
  
(More	
  generally	
  …)	
  
•  Maximum	
  A	
  Posteriori	
  (MAP):	
  what	
  are	
  the	
  most	
  probable	
  values	
  of	
  some	
  

other	
  r.v.s,	
  Y	
  ⊂ (V	
  \	
  X)?	
  
	
  
•  Random	
  sampling	
  from	
  the	
  posterior	
  over	
  values	
  of	
  Y	
  
•  Full	
  posterior	
  over	
  values	
  of	
  Y	
  
•  Marginal	
  probabili@es	
  from	
  the	
  posterior	
  over	
  Y	
  

•  Minimum	
  Bayes	
  risk:	
  	
  What	
  is	
  the	
  Y	
  with	
  the	
  lowest	
  expected	
  cost?	
  
•  Cost-­‐augmented	
  decoding:	
  	
  What	
  is	
  the	
  most	
  dangerous	
  Y?	
  



Approaches	
  to	
  Inference	
  

inference	
  

exact	
  

variable	
  
elimina@on	
  

dynamic	
  
program’ng	
  

ILP	
  

approximate	
  

randomized	
  

MCMC	
  

Gibbs	
  

importance	
  
sampling	
  

randomized	
  
search	
  

simulated	
  
annealing	
  

determinis@c	
  

varia@onal	
  

mean	
  field	
  

loopy	
  belief	
  
propaga@on	
  

LP	
  
relaxa@ons	
  

dual	
  
decomp.	
  

local	
  search	
  

beam	
  search	
  

lecture	
  6,	
  if	
  @me	
  

today	
  



Exact	
  Marginal	
  for	
  Y	
  

•  This	
  will	
  be	
  a	
  generaliza@on	
  of	
  algorithms	
  you	
  
already	
  know:	
  	
  the	
  forward	
  and	
  backward	
  
algorithms.	
  

•  The	
  general	
  name	
  is	
  variable	
  elimina@on.	
  
•  AKer	
  we	
  see	
  it	
  for	
  the	
  marginal,	
  we’ll	
  see	
  how	
  
to	
  use	
  it	
  for	
  the	
  MAP.	
  



Simple	
  Inference	
  Example	
  

•  Goal:	
  	
  P(D)	
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Simple	
  Inference	
  Example	
  

•  Let’s	
  calculate	
  P(B)	
  from	
  
things	
  we	
  have.	
  

A	
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D	
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Simple	
  Inference	
  Example	
  

•  Let’s	
  calculate	
  P(B)	
  from	
  
things	
  we	
  have.	
  

A	
  

B	
  

C	
  

D	
  

P (B) =
�

a�Val(A)

P (A = a)P (B | A = a)



Simple	
  Inference	
  Example	
  

•  Let’s	
  calculate	
  P(B)	
  from	
  
things	
  we	
  have.	
  

•  Note	
  that	
  C	
  and	
  D	
  do	
  not	
  
maEer.	
  

A	
  

B	
  

C	
  

D	
  

P (B) =
�

a�Val(A)

P (A = a)P (B | A = a)



Simple	
  Inference	
  Example	
  

•  Let’s	
  calculate	
  P(B)	
  from	
  
things	
  we	
  have.	
  

A	
  

B	
  

C	
  

D	
  

P (B) =
�

a�Val(A)

P (A = a)P (B | A = a)

0	
  

1	
  

P(B	
  |	
  A)	
   0	
   1	
  

0	
  

1	
  

T 

= 0	
  

1	
  



Simple	
  Inference	
  Example	
  

•  We	
  now	
  have	
  a	
  Bayesian	
  
network	
  for	
  the	
  marginal	
  
distribu@on	
  P(B,	
  C,	
  D).	
  

B	
  

C	
  

D	
  

0	
  

1	
  

P(C	
  |B)	
   0	
   1	
  

0	
  

1	
  

P(D	
  |C)	
   0	
   1	
  

0	
  

1	
  



Simple	
  Inference	
  Example	
  

•  We	
  can	
  repeat	
  the	
  same	
  
process	
  to	
  calculate	
  P(C).	
  

•  We	
  already	
  have	
  P(B)!	
  

B	
  

C	
  

D	
  

P (C) =
�

b�Val(B)

P (B = b)P (C | B = b)



Simple	
  Inference	
  Example	
  

•  We	
  can	
  repeat	
  the	
  same	
  
process	
  to	
  calculate	
  P(C).	
  

B	
  

C	
  

D	
  

P (C) =
�

b�Val(B)

P (B = b)P (C | B = b)

0	
  

1	
  

P(C	
  |	
  B)	
   0	
   1	
  

0	
  

1	
  

T 

= 0	
  

1	
  



Simple	
  Inference	
  Example	
  

•  We	
  now	
  have	
  P(C,	
  D).	
  
•  Marginalizing	
  out	
  A	
  and	
  B	
  
happened	
  in	
  two	
  steps,	
  
and	
  we	
  are	
  exploi@ng	
  the	
  
Bayesian	
  network	
  
structure.	
  

C	
  

D	
  

0	
  

1	
  

P(D	
  |C)	
   0	
   1	
  

0	
  

1	
  



Simple	
  Inference	
  Example	
  

•  Last	
  step	
  to	
  get	
  P(D):	
  

D	
  

P (D) =
�

c�Val(C)

P (C = c)P (D | C = c)

0	
  

1	
  

P(D	
  |	
  C)	
   0	
   1	
  

0	
  

1	
  

T 

= 0	
  

1	
  



Simple	
  Inference	
  Example	
  

•  No@ce	
  that	
  the	
  same	
  step	
  happened	
  for	
  each	
  
random	
  variable:	
  
– We	
  created	
  a	
  new	
  CPD	
  over	
  the	
  variable	
  and	
  its	
  
“successor”	
  

– We	
  summed	
  out	
  (marginalized)	
  the	
  variable.	
  

P (D) =
�

a�Val(A)

�

b�Val(B)

�

c�Val(C)

P (A = a)P (B = b | A = a)P (C = c | B = b)P (D | C = c)

=
�

c�Val(C)

P (D | C = c)
�

b�Val(B)

P (C = c | B = b)
�

a�Val(A)

P (A = a)P (B = b | A = a)



That	
  Was	
  Variable	
  Elimina@on	
  

•  We	
  reused	
  computa@on	
  from	
  previous	
  steps	
  
and	
  avoided	
  doing	
  the	
  same	
  work	
  more	
  than	
  
once.	
  
– Dynamic	
  programming	
  à	
  la	
  forward	
  algorithm!	
  

•  We	
  exploited	
  the	
  Bayesian	
  network	
  structure	
  
(each	
  subexpression	
  only	
  depends	
  on	
  a	
  small	
  
number	
  of	
  variables).	
  

•  Exponen@al	
  blowup	
  avoided!	
  



What	
  Remains	
  

•  Some	
  machinery	
  
•  Variable	
  elimina@on	
  in	
  general	
  
•  The	
  maximiza@on	
  version	
  (for	
  MAP	
  inference)	
  
•  A	
  bit	
  about	
  approximate	
  inference	
  



Factor	
  Graphs	
  

•  Variable	
  nodes	
  (circles)	
  
•  Factor	
  nodes	
  (squares)	
  

–  Can	
  be	
  MN	
  factors	
  or	
  BN	
  condi@onal	
  
probability	
  distribu@ons!	
  

•  Edge	
  between	
  variable	
  and	
  factor	
  if	
  
the	
  factor	
  depends	
  on	
  that	
  variable.	
  

•  The	
  graph	
  is	
  bipar@te.	
  

Z	
  

X	
  

Y	
  

φ1	
  

φ2	
  

φ3	
  

φ4	
  



Products	
  of	
  Factors	
  

•  Given	
  two	
  factors	
  with	
  different	
  scopes,	
  we	
  
can	
  calculate	
  a	
  new	
  factor	
  equal	
  to	
  their	
  
products.	
  

�product(x � y) = �1(x) · �2(y)



Products	
  of	
  Factors	
  

•  Given	
  two	
  factors	
  with	
  different	
  scopes,	
  we	
  
can	
  calculate	
  a	
  new	
  factor	
  equal	
  to	
  their	
  
products.	
  

A	
   B	
   ϕ1(A,	
  B)	
  

0	
   0	
   30	
  

0	
   1	
   5	
  

1	
   0	
   1	
  

1	
   1	
   10	
  

B	
   C	
   ϕ2(B,	
  C)	
  

0	
   0	
   100	
  

0	
   1	
   1	
  

1	
   0	
   1	
  

1	
   1	
   100	
  

. = 

A	
   B	
   C	
   ϕ3(A,	
  B,	
  
C)	
  

0	
   0	
   0	
   3000	
  

0	
   0	
   1	
   30	
  

0	
   1	
   0	
   5	
  

0	
   1	
   1	
   500	
  

1	
   0	
   0	
   100	
  

1	
   0	
   1	
   1	
  

1	
   1	
   0	
   10	
  

1	
   1	
   1	
   1000	
  



Factor	
  Marginaliza@on	
  

•  Given	
  X	
  and	
  Y	
  (Y	
  ∉	
  X),	
  we	
  can	
  turn	
  a	
  factor	
  	
  
ϕ(X,	
  Y)	
  into	
  a	
  factor	
  ψ(X)	
  via	
  marginaliza@on:	
  

⇥(X) =
�

y�Val(Y )

�(X, y)



Factor	
  Marginaliza@on	
  

•  Given	
  X	
  and	
  Y	
  (Y	
  ∉	
  X),	
  we	
  can	
  turn	
  a	
  factor	
  	
  
ϕ(X,	
  Y)	
  into	
  a	
  factor	
  ψ(X)	
  via	
  marginaliza@on:	
  

⇥(X) =
�

y�Val(Y )

�(X, y)

P(C	
  |	
  A,	
  B)	
   0,	
  0	
   0,	
  1	
   1,	
  0	
   1,1	
  

0	
   0.5	
   0.4	
   0.2	
   0.1	
  

1	
   0.5	
   0.6	
   0.8	
   0.9	
  

A	
   C	
   ψ(A,	
  C)	
  

0	
   0	
   0.9	
  

0	
   1	
   0.3	
  

1	
   0	
   1.1	
  

1	
   1	
   1.7	
  “summing out” B 



Factor	
  Marginaliza@on	
  

•  Given	
  X	
  and	
  Y	
  (Y	
  ∉	
  X),	
  we	
  can	
  turn	
  a	
  factor	
  	
  
ϕ(X,	
  Y)	
  into	
  a	
  factor	
  ψ(X)	
  via	
  marginaliza@on:	
  

⇥(X) =
�

y�Val(Y )

�(X, y)

P(C	
  |	
  A,	
  B)	
   0,	
  0	
   0,	
  1	
   1,	
  0	
   1,1	
  

0	
   0.5	
   0.4	
   0.2	
   0.1	
  

1	
   0.5	
   0.6	
   0.8	
   0.9	
  

A	
   B	
   ψ(A,	
  B)	
  

0	
   0	
   1	
  

0	
   1	
   1	
  

1	
   0	
   1	
  

1	
   1	
   1	
  “summing out” C 



Factor	
  Marginaliza@on	
  

•  Given	
  X	
  and	
  Y	
  (Y	
  ∉	
  X),	
  we	
  can	
  turn	
  a	
  factor	
  	
  
ϕ(X,	
  Y)	
  into	
  a	
  factor	
  ψ(X)	
  via	
  marginaliza@on:	
  

•  We	
  can	
  refer	
  to	
  this	
  new	
  factor	
  by	
  ∑Y	
  ϕ.	
  	
  

⇥(X) =
�

y�Val(Y )

�(X, y)



Marginalizing	
  Everything?	
  

•  Take	
  a	
  Markov	
  network’s	
  “product	
  factor”	
  by	
  
mul@plying	
  all	
  of	
  its	
  factors.	
  

•  Sum	
  out	
  all	
  the	
  variables	
  (one	
  by	
  one).	
  

•  What	
  do	
  you	
  get?	
  



Factors	
  Are	
  Like	
  Numbers	
  

•  Products	
  are	
  commuta@ve:	
  ϕ1	
  · ϕ2	
  	
  =	
  ϕ2	
  · ϕ1	
  
•  Products	
  are	
  associa@ve:	
  	
  
(ϕ1	
  · ϕ2) · ϕ3	
  =	
  ϕ1	
  · (ϕ2· ϕ3)	
  

•  Sums	
  are	
  commuta@ve:	
  	
  ∑X	
  ∑Y	
  ϕ	
  =	
  ∑Y	
  ∑X	
  ϕ	
  
•  Distribu@vity	
  of	
  multliplica@on	
  over	
  
summa@on:	
  

X ⇤⇥ Scope(�1) �
�

X

(�1 · �2) = �1 ·
�

X

�2



Elimina@ng	
  One	
  Variable	
  

Input:	
  	
  Set	
  of	
  factors	
  Φ,	
  variable	
  Z	
  to	
  eliminate	
  
Output:	
  	
  new	
  set	
  of	
  factors	
  Ψ	
  
	
  
1. Let	
  Φ’	
  =	
  {ϕ	
  ∈	
  Φ	
  |	
  Z	
  ∈	
  Scope(ϕ)}	
  
2. Let	
  Ψ	
  =	
  {ϕ	
  ∈	
  Φ	
  |	
  Z	
  ∉	
  Scope(ϕ)}	
  
3. Let	
  ψ	
  be	
  ∑Z	
  ∏ϕ∈Φ’	
  ϕ	
  
4. Return	
  Ψ	
  ∪	
  {ψ}	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Let’s	
  eliminate	
  H.	
  

Flu	
   All.	
  

S.I.	
  

R.N.	
   H.	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Let’s	
  eliminate	
  H.	
  

Flu	
   All.	
  

S.I.	
  

R.N.	
   H.	
  

ϕSR	
   ϕSH	
  

ϕA	
  ϕF	
  

ϕFA
S	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Let’s	
  eliminate	
  H.	
  
1. 	
  Φ’	
  =	
  {ϕSH}	
  
2. 	
  Ψ	
  =	
  {ϕF,	
  ϕA,	
  ϕFAS,	
  ϕSR}	
  
3. ψ	
  =	
  ∑H	
  ∏ϕ∈Φ’	
  ϕ	
  
4. Return	
  Ψ	
  ∪	
  {ψ}	
  

Flu	
   All.	
  

S.I.	
  

R.N.	
   H.	
  

ϕSR	
   ϕSH	
  

ϕA	
  ϕF	
  

ϕFA
S	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Let’s	
  eliminate	
  H.	
  
1. 	
  Φ’	
  =	
  {ϕSH}	
  
2. 	
  Ψ	
  =	
  {ϕF,	
  ϕA,	
  ϕFAS,	
  ϕSR}	
  
3. ψ	
  =	
  ∑H	
  ϕSH	
  

4. Return	
  Ψ	
  ∪	
  {ψ}	
  

Flu	
   All.	
  

S.I.	
  

R.N.	
   H.	
  

ϕSR	
   ϕSH	
  

ϕA	
  ϕF	
  

ϕFA
S	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Let’s	
  eliminate	
  H.	
  
1. 	
  Φ’	
  =	
  {ϕSH}	
  
2. 	
  Ψ	
  =	
  {ϕF,	
  ϕA,	
  ϕFAS,	
  ϕSR}	
  
3. ψ	
  =	
  ∑H	
  ϕSH	
  

4. Return	
  Ψ	
  ∪	
  {ψ}	
  

Flu	
   All.	
  

S.I.	
  

R.N.	
   H.	
  

ϕSR	
   ϕSH	
  

ϕA	
  ϕF	
  

ϕFA
S	
  

P(H	
  |	
  S)	
   0	
   1	
  

0	
   0.8	
   0.1	
  

1	
   0.2	
   0.9	
  

S	
   ψ(S)	
  

0	
   1.0	
  

1	
   1.0	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Let’s	
  eliminate	
  H.	
  
1. 	
  Φ’	
  =	
  {ϕSH}	
  
2. 	
  Ψ	
  =	
  {ϕF,	
  ϕA,	
  ϕFAS,	
  ϕSR}	
  
3. ψ	
  =	
  ∑H	
  ϕSH	
  

4. Return	
  Ψ	
  ∪	
  {ψ}	
  

Flu	
   All.	
  

S.I.	
  

R.N.	
  

ϕSR	
   ψ	
  

ϕA	
  ϕF	
  

ϕFA
S	
  

P(H	
  |	
  S)	
   0	
   1	
  

0	
   0.8	
   0.1	
  

1	
   0.2	
   0.9	
  

S	
   ψ(S)	
  

0	
   1.0	
  

1	
   1.0	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Let’s	
  eliminate	
  H.	
  
•  We	
  can	
  actually	
  ignore	
  the	
  
new	
  factor,	
  equivalently	
  just	
  
dele@ng	
  H!	
  
– Why?	
  
–  In	
  some	
  cases	
  elimina@ng	
  a	
  
variable	
  is	
  really	
  easy!	
  

Flu	
   All.	
  

S.I.	
  

R.N.	
  

ϕSR	
  

ϕA	
  ϕF	
  

ϕFA
S	
  

S	
   ψ(S)	
  

0	
   1.0	
  

1	
   1.0	
  



Variable	
  Elimina@on	
  

Input:	
  	
  Set	
  of	
  factors	
  Φ,	
  ordered	
  list	
  of	
  variables	
  
Z	
  to	
  eliminate	
  

Output:	
  	
  new	
  factor	
  ψ	
  
1. For	
  each	
  Zi	
  ∈	
  Z	
  (in	
  order):	
  

–  Let	
  Φ	
  =	
  Eliminate-­‐One(Φ,	
  Zi)	
  	
  

2. Return	
  ∏ϕ∈Φ	
  ϕ	
  	
  
	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  H	
  is	
  already	
  eliminated.	
  
•  Let’s	
  now	
  eliminate	
  S.	
  

Flu	
   All.	
  

S.I.	
  

R.N.	
  

ϕSR	
  

ϕA	
  ϕF	
  

ϕFA
S	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Elimina@ng	
  S.	
  
1. 	
  Φ’	
  =	
  {ϕSR,	
  ϕFAS}	
  
2. 	
  Ψ	
  =	
  {ϕF,	
  ϕA}	
  
3. ψFAR	
  =	
  ∑S	
  ∏ϕ∈Φ’	
  ϕ	
  
4. Return	
  Ψ	
  ∪	
  {ψFAR}	
  

Flu	
   All.	
  

S.I.	
  

R.N.	
  

ϕSR	
  

ϕA	
  ϕF	
  

ϕFA
S	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Elimina@ng	
  S.	
  
1. 	
  Φ’	
  =	
  {ϕSR,	
  ϕFAS}	
  
2. 	
  Ψ	
  =	
  {ϕF,	
  ϕA}	
  
3. ψFAR	
  =	
  ∑S	
  ϕSR	
  ·∙	
  ϕFAS	
  
4. Return	
  Ψ	
  ∪	
  {ψFAR}	
  

Flu	
   All.	
  

S.I.	
  

R.N.	
  

ϕSR	
  

ϕA	
  ϕF	
  

ϕFA
S	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Elimina@ng	
  S.	
  
1. 	
  Φ’	
  =	
  {ϕSR,	
  ϕFAS}	
  
2. 	
  Ψ	
  =	
  {ϕF,	
  ϕA}	
  
3. ψFAR	
  =	
  ∑S	
  ϕSR	
  ·∙	
  ϕFAS	
  
4. Return	
  Ψ	
  ∪	
  {ψFAR}	
  

Flu	
   All.	
  

R.N.	
  

ϕA	
  ϕF	
  

ψFAR	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Finally,	
  eliminate	
  A.	
  

Flu	
   All.	
  

R.N.	
  

ϕA	
  ϕF	
  

ψFAR	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Elimina@ng	
  A.	
  
1. 	
  Φ’	
  =	
  {ϕA,	
  ϕFAR}	
  
2. 	
  Ψ	
  =	
  {ϕF}	
  
3. ψFR	
  =	
  ∑A	
  ϕA	
  ·∙	
  ψFAR	
  
4. Return	
  Ψ	
  ∪	
  {ψFR}	
  

Flu	
   All.	
  

R.N.	
  

ϕA	
  ϕF	
  

ψFAR	
  



Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Elimina@ng	
  A.	
  
1. 	
  Φ’	
  =	
  {ϕA,	
  ϕFAR}	
  
2. 	
  Ψ	
  =	
  {ϕF}	
  
3. ψFR	
  =	
  ∑A	
  ϕA	
  ·∙	
  ψFAR	
  
4. Return	
  Ψ	
  ∪	
  {ψFR}	
  

Flu	
  

R.N.	
  

ϕF	
  

ψFR	
  



Markov	
  Chain,	
  Again	
  

•  Earlier,	
  we	
  eliminated	
  
A,	
  then	
  B,	
  then	
  C.	
  

	
  

A	
  

B	
  

C	
  

D	
  

0	
  

1	
  

P(B	
  |A)	
   0	
   1	
  

0	
  

1	
  

P(C	
  |B)	
   0	
   1	
  

0	
  

1	
  

P(D	
  |C)	
   0	
   1	
  

0	
  

1	
  



Markov	
  Chain,	
  Again	
  

•  Now	
  let’s	
  start	
  by	
  
elimina@ng	
  C.	
  

	
  

A	
  

B	
  

C	
  

D	
  

0	
  

1	
  

P(B	
  |A)	
   0	
   1	
  

0	
  

1	
  

P(C	
  |B)	
   0	
   1	
  

0	
  

1	
  

P(D	
  |C)	
   0	
   1	
  

0	
  

1	
  



Markov	
  Chain,	
  Again	
  

•  Now	
  let’s	
  start	
  by	
  
elimina@ng	
  C.	
  

	
  

A	
  

B	
  

C	
  

D	
  

P(C	
  |B)	
   0	
   1	
  

0	
  

1	
  

P(D	
  |C)	
   0	
   1	
  

0	
  

1	
  
. = 

B	
   C	
   D	
   ϕ’(B,	
  C,	
  D)	
  

0	
   0	
   0	
  

0	
   0	
   1	
  

0	
   1	
   0	
  

0	
   1	
   1	
  

1	
   0	
   0	
  

1	
   0	
   1	
  

1	
   1	
   0	
  

1	
   1	
   1	
  



Markov	
  Chain,	
  Again	
  

•  Now	
  let’s	
  start	
  by	
  
elimina@ng	
  C.	
  

	
  

A	
  

B	
  

C	
  

D	
  

ΣC = 

B	
   C	
   D	
   ϕ’(B,	
  C,	
  D)	
  

0	
   0	
   0	
  

0	
   0	
   1	
  

0	
   1	
   0	
  

0	
   1	
   1	
  

1	
   0	
   0	
  

1	
   0	
   1	
  

1	
   1	
   0	
  

1	
   1	
   1	
  

B	
   D	
   ψ(B,	
  D)	
  

0	
   0	
  

0	
   1	
  

1	
   0	
  

1	
   1	
  



Markov	
  Chain,	
  Again	
  

•  Elimina@ng	
  B	
  will	
  be	
  
similarly	
  complex.	
  

	
  

A	
  

B	
  

D	
  

B	
   D	
   ψ(B,	
  D)	
  

0	
   0	
  

0	
   1	
  

1	
   0	
  

1	
   1	
  



Variable	
  Elimina@on:	
  	
  Comments	
  

•  Can	
  prune	
  away	
  all	
  non-­‐ancestors	
  of	
  the	
  query	
  
variables.	
  

•  Ordering	
  makes	
  a	
  difference!	
  
•  Works	
  for	
  Markov	
  networks	
  and	
  Bayesian	
  
networks.	
  
– Factors	
  need	
  not	
  be	
  CPDs	
  and,	
  in	
  general,	
  new	
  
factors	
  won’t	
  be.	
  



What	
  about	
  Evidence?	
  

•  So	
  far,	
  we’ve	
  just	
  considered	
  the	
  posterior/
marginal	
  P(Y).	
  

•  Next:	
  	
  condi@onal	
  distribu@on	
  P(Y	
  |	
  X	
  =	
  x).	
  

•  It’s	
  almost	
  the	
  same:	
  	
  the	
  addi@onal	
  step	
  is	
  to	
  
reduce	
  factors	
  to	
  respect	
  the	
  evidence.	
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H can be pruned 
for the same reasons 
as before. 
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Example	
  

•  Query:	
  	
  	
  
P(Flu	
  |	
  runny	
  nose)	
  

•  Now	
  run	
  variable	
  
elimina@on	
  all	
  the	
  
way	
  down	
  to	
  one	
  
factor.	
  

ϕF	
  · ψF	
  



Variable	
  Elimina@on	
  for	
  	
  
Condi@onal	
  Probabili@es	
  

Input:	
  	
  Graphical	
  model	
  on	
  V,	
  set	
  of	
  query	
  variables	
  
Y,	
  evidence	
  X	
  =	
  x	
  	
  

Output:	
  	
  factor	
  ϕ	
  and	
  scalar	
  α	
  
1. 	
  Φ	
  =	
  factors	
  in	
  the	
  model	
  
2. Reduce	
  factors	
  in	
  Φ	
  by	
  X	
  =	
  x	
  
3. Choose	
  variable	
  ordering	
  on	
  Z	
  	
  =	
  V	
  \	
  Y	
  \	
  X	
  
4. ϕ	
  =	
  Variable-­‐Elimina@on(Φ,	
  Z)	
  
5. α	
  =	
  ∑z∈Val(Z)	
  ϕ(z)	
  
6. Return	
  ϕ,	
  α	
  

	
  



Note	
  

•  For	
  Bayesian	
  networks,	
  the	
  final	
  factor	
  will	
  be	
  
P(Y,	
  X	
  =	
  x)	
  and	
  the	
  sum	
  α	
  =	
  P(X	
  =	
  x).	
  

•  This	
  equates	
  to	
  a	
  Gibbs	
  distribu@on	
  with	
  
par@@on	
  func@on	
  =	
  α.	
  



Variable	
  Elimina@on	
  

•  In	
  general,	
  exponen@al	
  requirements	
  in	
  induced	
  
width	
  corresponding	
  to	
  the	
  ordering	
  you	
  choose.	
  

•  It’s	
  NP-­‐hard	
  to	
  find	
  the	
  best	
  elimina@on	
  
ordering.	
  

•  If	
  you	
  can	
  avoid	
  “big”	
  intermediate	
  factors,	
  you	
  
can	
  make	
  inference	
  linear	
  in	
  the	
  size	
  of	
  the	
  
original	
  factors.	
  



Addi@onal	
  Comments	
  

•  Run@me	
  depends	
  on	
  the	
  size	
  of	
  the	
  
intermediate	
  factors.	
  

•  Hence,	
  variable	
  elimina@on	
  ordering	
  maEers	
  a	
  
lot.	
  
– But	
  it’s	
  NP-­‐hard	
  to	
  find	
  the	
  best	
  one.	
  
– For	
  MNs,	
  chordal	
  graphs	
  permit	
  inference	
  in	
  @me	
  
linear	
  in	
  the	
  size	
  of	
  the	
  original	
  factors.	
  

– For	
  BNs,	
  polytree	
  structures	
  do	
  the	
  same.	
  



Ge�ng	
  Back	
  to	
  NLP	
  

•  Tradi@onal	
  structured	
  NLP	
  models	
  were	
  
some@mes	
  subconsciously	
  chosen	
  for	
  these	
  
proper@es.	
  
– HMMs,	
  PCFGs	
  (with	
  a	
  liEle	
  work)	
  
– But	
  not:	
  	
  IBM	
  model	
  3	
  

•  Need	
  MAP	
  inference	
  for	
  decoding!	
  
•  Need	
  approximate	
  inference	
  for	
  complex	
  
models!	
  



From	
  Marginals	
  to	
  MAP	
  

•  Replace	
  factor	
  marginaliza@on	
  steps	
  with	
  
maximiza#on.	
  
– Add	
  bookkeeping	
  to	
  keep	
  track	
  of	
  the	
  maximizing	
  
values.	
  

•  Add	
  a	
  traceback	
  at	
  the	
  end	
  to	
  recover	
  the	
  
solu@on.	
  

•  This	
  is	
  analogous	
  to	
  the	
  connec@on	
  between	
  the	
  
forward	
  algorithm	
  and	
  the	
  Viterbi	
  algorithm.	
  
– Ordering	
  challenge	
  is	
  the	
  same.	
  



Factor	
  Maximiza@on	
  

•  Given	
  X	
  and	
  Y	
  (Y	
  ∉	
  X),	
  we	
  can	
  turn	
  a	
  factor	
  	
  
ϕ(X,	
  Y)	
  into	
  a	
  factor	
  ψ(X)	
  via	
  maximiza@on:	
  

•  We	
  can	
  refer	
  to	
  this	
  new	
  factor	
  by	
  maxY	
  ϕ.	
  	
  

⇥(X) = max
Y

�(X, Y )



Factor	
  Maximiza@on	
  

•  Given	
  X	
  and	
  Y	
  (Y	
  ∉	
  X),	
  we	
  can	
  turn	
  a	
  factor	
  	
  
ϕ(X,	
  Y)	
  into	
  a	
  factor	
  ψ(X)	
  via	
  maximiza@on:	
  

	
  
⇥(X) = max

Y
�(X, Y )

A	
   C	
   ψ(A,	
  C)	
  

0	
   0	
   1.1	
   B=1	
  

0	
   1	
   1.7	
   B=1	
  

1	
   0	
   1.1	
   B=1	
  

1	
   1	
   0.7	
   B=0	
  “maximizing out” B 

A	
   B	
   C	
   ϕ	
  (A,	
  B,	
  C)	
  

0	
   0	
   0	
   0.9	
  

0	
   0	
   1	
   0.3	
  

0	
   1	
   0	
   1.1	
  

0	
   1	
   1	
   1.7	
  

1	
   0	
   0	
   0.4	
  

1	
   0	
   1	
   0.7	
  

1	
   1	
   0	
   1.1	
  

1	
   1	
   1	
   0.2	
  



Distribu@ve	
  Property	
  

•  A	
  useful	
  property	
  we	
  exploited	
  in	
  variable	
  
elimina@on:	
  

•  Under	
  the	
  same	
  condi@ons,	
  factor	
  
mul@plica@on	
  distributes	
  over	
  max,	
  too:	
  

X ⇤⇥ Scope(�1) �
�

X

(�1 · �2) = �1 ·
�

X

�2

max
X

(�1 · �2) = �1 · max
X

�2


